
LASS_XL CHAPTER2 RELATIONS FUNCTONS 

ExERCISE 2.2 (NCERT) 
OND 1 Let A {34 Defie a rdatren R fm A tA 

R 3); 31-j- ; 3j EA}, w it doeon 1 
doman Co dmaim and Range. 

A 3 - 14 

R ); 3--o*}¬A} 
3- =o 3 *}¬A 

42 Hege 5,6,9, 
tor X 5,67 14, le gel : 15,18,42 

Ahieh lo no beeng toSet A 

R 35) 39), 4, )} 

Domain of R Set ool elemenk 3a4 

Kange o R: Ser ofSemd elemenls +3 6,912 

Co clamain of R ,3 - 14 
QNo2 Deftie a relaien R on Set N e maura Nos b 

R- (3), ) * t5, is maboral no. less tlan 4, %,jeN 

Depict this selakonship u asfer . Hsile elown 

the c6marn and Pane 

R C), 7:z15 a I nalkral no. ass 4;%,eN 

t5 Ahere ,3,3 an , eN 

I+5, 3+5, 3t5 c ,7,8 

Tn Rster tom R-}UYET)(, n 
Ppmain 8l R:3, Roge R[,78 



GNo 3 3 A- 3as and B 4,6.9 elrie a Ralalien 
R 0m A to B by R ) he clf Crence 

betueen x and 1 1sedd EA and 7e B 1mé 

R Roser m 
A 3, e{4,,9 
R:3); te difevence hahween and dd. 

-3 5-4 1 

6-3 3 6-5 1 

9-3-6 9-54 

NoM 4-1:3 4-ae 
6-1 5 6-24 

9-1 8 9- 7 

R:), U), e1), 59,(),(54) (5 
ONo 4 he ishos . 

YelaTonshijp tween the 

Se P amd Wali th 5 3 

n-Set builder orm 
() Rostero3 m S 

hat is it clmatn ard Rag 
elation Cengs oelemen (x) nhere = -2 

Se-Buildf om ,), x-a, XeR, jt8 
n RosTeror m 

R53,49 (7,5 
DonainR: {S,,7} 

RangeR {31,5} 
Ler A 334,0 Let R be the relalron dn A ONoS 

cle imed bB,); , btA and be ti exacy chnsble a 
Msili R » kos er fov 



e Domain d R () find Pange of R 
So +Here A. ,34,51 

K ,; 3,6eA b exacl dmsible by a 

Kos er for m R:(,) C,:)),3) (,4) E)G4)6) 
3(3,9 (4,4), (6,0 

Domain ot R: {,a,14 

8No 6 Deteymime the ranye and domain ofreal+ion R, demed b 
Yanie 

R(5e,,3,45 
Here R(3, x15), xe {,)3355t 

Roser forn R-{s), )67, (3)6Mv 
Om pu: 0,2,34S

Demain o R: o,2 34,5 
Kange ot R{,78,1 

le the relalion R {(7,x3); x is pmme Mumbor lans 
1Ras er fn. 

ONo.7 
than 1 

su'me mumlrs us than 10 are 2,3, 5,7 

Here R:(z,3) x is pnme mumats s Han la 

R in ReikwnRC) (a,a7) (5,2s), ave) 

So 

Le A:2,1z} am B-{L'} hid e mumber 
Yelaton 

S A nCA) 3 
m(B) a 



Number of relalrons mA A boB 

3 the mumber o 34bsets AXB 
As AxB has c elemen 

No s 

Number of Subeel oAxB. 2 64. 

Noelal+ans m At B - 64. 

No 9 Let R be qrelaon on 7 dehned by 
R ,5); 9,bez a-b s on integer 

Fnd the domain and Range o R. 

Se R-C9), a,sez, a-b s an 1nêger 

Noo Snce a, b ez a-be2 

leFor qny nteger a end b. -b S allo 

an mte9er 

Donam R r 

Range o R 
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